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[The figure in the margin indicates full marks.]

Group-A
(Multiple Choice Type Question)
Choose the correct alternative from the following :

(1) Letp: Itis cold and q: It is raining , then the symbolic form of the statement ‘It is cold or
it is not raining’ is
2) 7 V4 b)
—p g
c) g d) »v—a

(2) Letp be a proposition ‘ He is intelligent’ and q be a proposition ‘ He is tall’ . The the sy
mbolic form of the statement ¢ He is intelligent and tall” is

a) PVd b) —# g

c) 7 g d) none of these .
(3) Forthe staement pand q —(pvg)is

a) —PNg b) —#V g

c) 2 Ve d) none of these .

4) relpag)=

a) p b) q

c) 7 g d) none of these
(5) »>e=

a) b)
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c) —P N

- S

d) #va

(6) Ifthe tuthvale of p and q are F and F respectively then the truth value of —p — —g

15
a) T
c) both T and F
(7) 1If pesg=(p—>g)r thenris
a) P — g
c) ¢ —>
®) ~(pwg)vipn-g)=
a) ¥
c) 7
(9) The proposition p g —g) Sa
a) contradiction
¢) an argument
(]O) Contrapositive of '—p—q' is
a) FP—q
c)

(11) Letp: © It1s sunny aftemoon © and q: * It is hot today
proposition —p A —g can be written as

g P

a) It is not sunny afternoon and it is not hot today

c) Itis false that It is sunny afternoon or it is ho
t today .

(12) The negation of the statement ‘ No one wants t
a) All want to buy my house
c) Every one wants to buy my house

(13) "Anv proposition™w “a tautologv’

a) The proposition
¢) contradiction
(14) 1

e, €y, =44 -3 thenthe value of nis

a) 6
c) 2

b) F
d) None of these

b) —»
d)

b) P
d) None of these

b) Tautology
d) none of these .

b)
d 7 —>-»

* . Then the followmng

b) It is false that It is not sunny afternoon or it is
not hot today .

d) None of these .
o buy my house’ is

b) Some one wants to buy my house
d) None of these .

b) tautology
d) none of these

b) 5
d 7

(15) The number of three digit number that can be formed from the digits 1,3,5,7 is,

a) 24
c) 4

Page

b) 6
d) none of these

20f7



(16) In how many ways 7 different beads can be arranged to form a necklace?

a) 250 b) 300
c) 360 d) 350
(17) The generating function for the sequence <1,-1,1,-1,...> is
D) (1-x) ) (147
1 d 1
©) (1+2x) 2 ) (1-2=x) 2

(18) 1f @, —a,,+9. n=1 and a,—5 then a, —

a) F+5x b) 5+

C) D d) Sz
(19) _ _ _

The sequence repres ented by the function — 1=
—5x

a) (== b) (==

) {7 ac

C) (== d) 1.4

) {57 +1) ) (47

(20) 1r fC. "C, and *C; are in AP, the value ofm is

a) 6 b) 7
c) 8 d) 4
(21) If A and B are sets and AUB=A 1M B, then

a) A=2@ b) B=@
c) A=B d) none of these

(22) Let R be a non-empty relation on a collection of sets defined by ARB if and only if A N
B =, then

a) R is reflexive and transitive. b) R is symmetric and not transitive.
¢) R is an equivalence relation. d) R is not reflexive and not symmetric.
(23) Order of the power set of a set of order n is

a) n b) 2n

C) »x* d) ==
(24) Which of the following two sets are equal?

a) A={1,2}and B= {1} b) A={1,2} and B= {1}

c) A={1,2,3} and B={2, 1, 3} d) A={1,2,4} and B= {1, 2, 3}
(25) A function from A to B is called onto function if its range is

a)B b) A

¢) Neither A nor B d) Both A and B

(26) The smallest set A such that A U {1,2} = {1.2,3,5,9}is
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a) {2,3,5} b) {1,2,5,9}
c) {3,5,9} d) None of the mentioned
27)

— Fy | L N
Let & be the set of all natural number, A={x|xeN.x =4} and

iy lxe N x=5
B={x|xeN.x<5} Then A~ B=7

a) {4,5} b) {4}
c) {0} d) {9}

(28) 1fk is appositive mteger , then ged( ko, kb) =
a) Lged(ka k) D) kged(a.b)
9) kgedia, ki) d) none

(29) Set consisting of all first elements of each ordered pair in relation is called

a) subset b) domain of relation
c¢) range of relation d) complement of a set

(30) Set consisting of all second elements of each ordered pair in relation is called

a) domain of relation b) range of relation
c) subset d) complement of a set
(31 . . . .n_ 3
What is the base case for the inequality 7 >n , where n = 3?
a) 652>189 b) 42 <132
C) 343 >27 d) 42 =431

(32) 1f s(x—2)=2x2+3x—5 then s(—1)=

a) 0 b) 1
c) -1 d) 2
(33) The function R — Rdefmed by (x)= x>, where R is the set of all real numbers
Then fis
a) surjective b) injective
c) bijective d) None of these

(34) 11 @(x—2)=2x"=3x—5 then @(x)=

a) 2x*+11x+9 b) 2x*—11x+9
C) x*4+11x+9% d) none

(35) Let a and b any two positive integers. Then

a) god(a b=lom(a.b) b) goda, b )icem|a.b) = ab
C) god(a, b liema, b)=1 d) goda, blicma,b)=a+b
(36) If 32=a{mod7). Then the value of« is-

a) 10 b) 11
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c) 12 d) 13
(37)

Ifgcd|{a.b)=c, then 2 El.ﬂu:lE are
c c

a) both prime b)
both composite

c¢) relatively prime to each other d) None of these

(38) The gcd(81.135)is

a) 3 b) 9

c) 27 d) 81
(39) The iemi{81.135)is

c) 3645 d) 405

(40) The set of all real numbers under usual addition formed a group. Then the inverse of 2.36
is:

a) 2.36 b) -2.36
c) 2.4 d) -2.4
(41) The mverse of the element — in the mpmitiplicative group {—1,1.—#,#}, where # =-1
a) b) —i
c) 1 d) -1
(42) The identity element in the mmitiplicative group {—1.1.—i i}, where & =-1
a) i b) —
c) 1 d) -1
(43) A monoid (A.+) is called a group if
a) a+b=bta=e b) a+(b+c)i=(a+b)+c
C) a@+b=bt+avabe M d) a+bedf Yabe

(44) A group of three element is:

a) Always non-abelian b) Always abelian
¢) Sometimes abelian d) Always non-cyclic
(45) Let (G.)be a group and g has the mverse & then ab™' =7

a) e b) «*
C) b d) &2
(46) The number of elements in the group (Z, +)1is

a) 1 b) 3
c) 4 d) 6
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(47) The mverse of the element [1]in the additive group Z;
a) [1] b) [2]
©) [o] 4 None of these
(48) If odenotes permmtation muitiplication , then the value of (1 2)o(l 4)
a) (412) b) (14 2
c) (42) d 41
(49) Let 4 be anelement in a group with order 5. Then the value of a™*
a) « b) &2
c) at d) =
(50) Let o be anelement m a group with order 10. Then the order of the element a’

a) 10 b) 70
c) 1 d) Cannot be determined from the given data

(51) Which of the following is not an abelian group:

a) (2. b) Z.+)
©) (Z,,+) d) s
(52) A subgroup H of a group G is nommal if forall xe Gand heH
a) xhxle H b) xhxle
C) x&le X d) xpexm

(53) Ina Boolean algebra B, if a+5=»5 them ab="7
a) « b) &
c) a' d) Cannot determined from the given data

(54) InaBoolean algebra B, (a+b)'=7

a) a4+ b b) (a.B)
c) a'b' d) r
(55) InaBoolean algeba B, 0'=7
a) I b) 0
c) r d) o
(56) Arithmetical minus (-) is a binary operation on
a) set of all integers b) set of positive integers
c) set of negative integers d) none

(57) A groupoid|{&.,=) isasemi-groupifforall ab.cin G

Page 6 of 7



a) aobh=hog b) @O =k
C) (geb)ec=(beoc)oa d) agoejbec)=(aed)ec

(58) Which one of the following groupoid is semi-group

a) (Z,+) b) (z.-)
¢) (R,+) d) None

(59) mthe group Z, = {[0].[1].[2].[3]} underaddition [3]+[2]=

a) [5] b) [o]
©) [1] d) [2]
(60) An edge whose two end vertices coincide is called
a) ring b) adjacent edge
c) loop d) none
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